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S irg~b P B f(x)=\/;—x » g(x)=ax’ +bx (B 73598 EE(1,0) - F f(x) 2 (1,0) 5+
Wi SUL 0 2 g(x) 11(10) 5 2 B ML AR T £ 0 BT AR 5 B 7
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%f(x)=x3+3x2—72x—74 ’ EIIJ'L' ;,',J]/F,jﬂz :\;\ _:E’: ?
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12 , . ,
¢ el f(x) =X+ 7 i Bh(a, b A F 5 90 Fa>00 Rlath=?
X

(A)-8  B)I1  (C)14 (D16 [111C18)

Ans (D)



2x+a
, x>3
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Ans (D)



?

a1

(A) f(x)=(4x+5)6x+7) * Bl £1(x)=24
(B) s(x)=Rlx" +4x - ﬂ'Jf'(x)=gx3 +4

(C) f(x)=@x+5)" » Bl f'(x)=2(4x+5)

4x+4
x+1

(D) f(x)= > Bl f(x)=4

Ans © (B)

[99C15])



5 r =X TDE=D) L gy g
x=5
[98C22]

2 1 : :
W -5 B -5 ©3 O]

Ans © (A)



TAEW MY o K hx=lhsh A S S 129

x—47

(A) y=("+)"  (B) y=Qx+D@x*-3) () y= i1

(D) y=Bx+1)> [98C23]

Ans : (C)



